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5285 = FHTT TN 9 0 9 2.9 Rk
5286 HfTe FHT ZTHT 39 50 89 60.0 Exik
5287 FHTT FRTe 13 0 13 0.0 SRk
5288 FereTer THTX T T 0 T EGRIEO]
5289 AT €} €} 0 €} ERRIE K
5290 foraes T T T 0 T EGRIED]
5291 FTfdeht srfAer e T T 0 T EGRIED]
5292 BEEKICT €} €} 0 €} ERRIE K
5293 (g FATT 13 0 13 16.6 EEik
5294 T AT TS 18 50 68 31.8 = -l
5295 LT T T 20 50 70 37.0 T -l
5296 g AR T T 0 T EGRIEO]
5297 EEIEIREPERRI IS 34 50 84 56.8 IO
5298 TUTE T FgEaFT 29 25 54 25.0 IO
5299 FHAL THTT 34 50 84 53.6 I
5300 A AR e €} €} 0 €} ERRIE K
5301 LT qIEAT ARSI 25 50 75 30.3 IO
5302 et T T 39 50 89 34.2 Exik
5303 AT ATEH & 17 50 67 34.2 T -l
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5304 FHAT AHETHI T T T 0 T EGRIEO]
5305 e T T T 0 T EGRIEO]
5306 EIER Ry T T 0 T EGRIEO]
5307 RIEHERIEET o o 0 o EREIERE]
5308 il 25 0 25 0.0 = -l
5309 F F=erreft 34 50 84 32.7 I
5310 EIECINR IR 37 50 87 36.9 Ifror
5311 Tt 37 50 87 34.2 Ifror
5312 Eick 48 50 98 34.2 I
5313 TRAT aefter 9w 46 50 96 34.2 I
5314 R €} €} 0 €} ERRIE K
5315 gt ot 45 50 95 34.0 Ifror



